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FONCTIONS TRIGONOMETRIQUES

Equations élémentaires

C. SCOLAS https://bit.ly/4erikwQ

Résous les équations suivantes en radians, sans calculatrice. Donne également les solutions @

principales :

(1) cos (2x) =cos (3x - IT)

(2) 2.sin(2x)—1=0

(3) 4.tan(3x)+4=0



(4) \/E.cos[3x —|—§] =1

(5) 4=5—tan(2x)

(6) cos [3x+z] = —l
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(7) sin (x —%Tj =cos (Sx)



(8) sin [3x _577?] =sin [% — x]

(9) sin(2x)+sinx=0

(10) 3tan [2x —|—E]
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(11) sin [—2x+5—7r] =
6
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(12) Stan[%—Zx —2=0

(13) sin

3x—|—£]—cos[x—i—4—7r]20
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